ROUGH CALCULATIONS
[image: C:\Users\DNGX\AppData\Local\Microsoft\Windows\Temporary Internet Files\Content.Word\photo 2.jpg][image: C:\Users\DNGX\AppData\Local\Microsoft\Windows\Temporary Internet Files\Content.Word\photo 1.jpg]Taking inspiration from the Sundial Bridge in California, the walkway will be constructed from non-skid glass panels in steel framework with granite accents. The steel framework will be designed with trusses and support the glass walkway layered over it. 
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[bookmark: _GoBack][image: C:\Users\DNGX\AppData\Local\Microsoft\Windows\Temporary Internet Files\Content.Word\photo.jpg][image: C:\Users\DNGX\AppData\Local\Microsoft\Windows\Temporary Internet Files\Content.Word\photo.jpg][image: C:\Users\DNGX\AppData\Local\Microsoft\Windows\Temporary Internet Files\Content.Word\photo 5.jpg]The sketch to the left shows the design for the walkway. It features 6 main support beams, which are held together with K trusses.
The sketch below it shows a cross sectional sketch of the walkway, and how the glass sheets are mounted onto the support beams. it also shows where the cable supports the walkway.
This diagram shows a possible intermediate mounting between the support beams and the glass walkway.

image7.jpeg
TR B

NS IME

19Wo%| ,bS -

AW

#5557 SS -

AR

L9092\ 50

e | S

SHerll o





image1.jpeg
L2V Q=S¥ Whgo0 0= 2En - |57

u B - G100+ 0=_200

— W= E 100 = 0 | mml N
< o

b n?.Jg/b oﬁx\

4 .C.VM%\ M

- L1709 05020 = s A [TXP wen
»

D 15200 = 59000 = SiHi150-0
.

=\ V:Zsu 41 Ew?..

H.‘ ST Sie G Rl 0] s
. ) I T TR N VA &
e 2099 = S v ) (T n)sv«ll/ % P
3 T AS= \  Rkeg
57 U EE N d e

= — K
2 T R W Tl




image2.jpeg
20419 =255 ey o ey
N Ak S R
1l NGRS

e NN
:wr‘_t \ L0 2 =] gl
iR T
30 7
o
TR WO Vi #eeeh A GG
5 f\ (g er® SoPeo] W8 ¥ Y
2 t

\  Qlg = WS Je vigli 56





image3.jpeg
9 5 _
1 N ‘

",_Qé\ahn/ <0

" b

.r_‘

9129 °05s =

N 01 x(bh = [6-5x 46,5005

— : ) :
- L BUGNRGRE T

—

Vi
s = e e P

/

J/T e \;

gl ,//Wﬁ@@nuw(y (oo ¢w}(/jbq

_— —

LA graTiin =

h " O =y =
Ty ety G il A b




image4.jpeg
S0, 2T B TOROBT =
nd ﬂew //
PR GO AL =V 8 g )
¢3S0 \iﬁv be .Az..m_ \ﬂ: Ve
2 o)

7 QB Gprp At

L) Sy o b Y T T S
1S Shpee0-g %101 =0 N Foeel

T d





image5.jpeg




image6.jpeg
-
g
i :1
9 _ oL il
.QE«Q y,oZ).)%\, Ox S ;
Vot oy el D e
i (&
X BT = n# §5 |
B e il
4 | i o
@\
— > Y Wm
o & > —





